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Homework Answer

Option C == 245798.

As,

Logic == Divisibility Rule of 9.
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Very super nice session sir thank you , , sir @
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SSC CHSL Tier-I :-Pattern

Sections/Subjects Number of Questions Maximum Marks Time Duration

each section

General Awareness 25 50 60 minutes
Reasoning/General 25 50

Intelligence

English Language (Basic 25 50

Knowledge)

Quantitative Aptitude 25 50

(Basic Arithmetic Skill)

Total 100 200
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SSC CHSL Tier 2 Plaper II Exam Pattern

Sections Module Subject No. of Questions Marks Weightage Duration
Mathematical
Module-I 30 90 25%
Abilities
Section I 1 hour
Reasoning and
Module-II . 30 90 25%
General Intelligence
Session —I
English Language
(2 hours & 15 Module-T 3 i 40 120 33.33%
Min) Section 11 Angle pIprenension 1 hour
Module-II General Awareness 20 60 16.66 %
. Computer o .
Section II1 Module-I 15 45 Qualifying 15 minutes
Knowledge Test
) Qualifying 15 minutes
Skill Test For DEOs
Session —II | Section III Module-II
. Qualifying 10 minutes
Typing Test For LDC/JSA
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Which of the following options 1s NOT divisible by 18?
fefefaa o @ =i a1 fashew 18 @ favmsa 78 22

=y |

i

(= w c) 245798
. d) 459018
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If the diameter of a circle 1s doubled, its area will become:

3f foReft I o oaTe R ST fohaT STTAT &, T SHehT &thet foha 1T 2

D
S
~ = SXhme a) TU* times
BNt
@ b) Double

c) 2TT times



In a triangle IJK , IL 1s the median. If [J =11 cm , IL =8 cm and JK =
14 cm . Then find the value of IK* + JL?

e FISt LUK, [L Hfesreht 81 94 1) = 11 94, IL = 8 &t 3T IK = 14
HHT &, a1 IK? + JL2 o7 |1 J1d ehiTsIy)

a) 105 cm
(\5\1 Mo&\m\ww\ s
I T =R To (o
8| AT _=%\Q60{_—¥\/\°\3 A\ b) 144 cm
e, ORI
<
\2\ a(.,_ Csac—\8) ¢) 155cm

® § F l \or™< K
TR G%T:/:B
\oSthe = \S Y Cw NI, - d) 154 cm
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ifa®> + b’ + c¢* + 125 =4 (4a + 3b) - 10c , then what is the value of a +
3b + ¢*

i a2 + b2+ 2+ 125 =4 (4a + 3b) - 10c &, dl a + 3b + ¢ T G FIT 82
ST 4 Cles = 2 AR RREA —AASS .

c+*2s a

%6_3\%6%5\*\'

or 64 —SHERA b — L gASHE=©
ST )
=%, b6, €77 c) 49
S RN
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PQRS is a cyclic quadrilateral in which £ZP = (2x + 7°) ,£ZQ = (x +
12°),£4R = (4y — 7°), and £S = (5y + 3°). Find the value of (x + y)
PQRS Teh =shld =IqUS =, ISTEH £P = (2x + 7°), £Q = (x + 12°), ZR =

(4y - 7°) 3R LS = (5y + 3°) Bl (x + y) T T JTd IS
o W= A = \%o

Mas S = \zo_ @
“ e
OO A 0 G
LRGN =4 N — c) 95°
’——J =
\\N =35
\\:\N d) 75°
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Five years ago the average age of Arun and Ratul was 20 years. Ratul 1s 10 years

junior to Arun. The average age of Arun, Ratul, and Piku is 35 years now. After 12

years, find the ratio of the ages of Piku and Arun.
g oY U8l 3TRUT 3R I ol SEd 3117 20 9 off| T, SR 10 Y BT 81 37,
Tt I dieh shl ST ATEd TR 35 99 &) 12 Y si1e, Wieh 3R 3801 ht 3R

S ERICRIGEETIS
V‘xe)ﬁ\'\%-%@%
a) 67 :42

Prvun QO\M—‘( Py, = SIS+ e - - b) 57 : 32
W\k\r\ & SSB/ s ANRS c)l1:6

V’y \’\%\3 :SM d) 77 : 52

Proun Ra e = QK2© T \e = So

Rava _d?\\‘\’\/
m—% A\




In a right circular cylinder, the radius of the cylinder 1s 7 m. If the curved surface
area of a right circular cylinder 1s 75% of the total surface area of the right circular
cylinder, then find the volume of the cylinder. (in m’)

Ush e IITeh Siet H, St shl BIST 7 Hiet 81 Fle Toh ol JTeh sic ol oish IEI

&, el SIITehT It oh el I8 &\1>|Lbcf1 T 75% B, d\| S ST TG JTd shiTSTg

= o éx( “\*ﬂ%
\‘ ~ \’\\("\\ | A AN = Un e YR \/29T[ m3
= r\v\\r\o\%&\ QAN = '3\,\4{3\r B \>Q729T[ m3
— A A= _—_ c) 1030TT m3
= \O&O\Y\ — J‘\ &\\ L) w

7 d) 9997T m3
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A plate was sold for Rs 6,300 after giving two successive discounts of 12.5 % and

10%. Find the marked price.
12.5% ST 10% hl &1 SHHTTA BE 3 o 18 Teh Wi 6,300 T H sl Tt off| @i s
3 fohel He 1A shifST)

& e
LW R =™ \OO\ %
\m@//F% 02
Q “oO a) Rs 7,300
\\5\7 QO . b) Rs 7,700
(/\\ o w ¢) Rs 8,000
Pl

e =~ 7 d) Rs 7,250
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A tap drips at a rate of one drop per second. 600 drops make 100 ml. The number

of litres wasted 1n 300 days 1s

Ueh Il Teh §J& Ui Hehg ohl &L H Uk BT &1 600 S[a1 ohi fietreht 100 frefietiet s 8
300 fadt i iz E dcgl?mpra@qlohlcdld{ﬁ;ud?ﬁﬁm b = g UY

A s~ BY K o A6D
- 3 Q\x.zp _ REoA AWK EC K6

o 0\ D—m’n{mq\‘oo )
LENGIO B0
G P a) 4320000
(\2 gﬂ\g\'\*@w} /@Ac}: \0\“\’— 3‘/3\\ ) o camgn: b) 432000
= NSo%E \dro = ewo/%;‘ﬁhﬂ c) 43200
= W3ge SN d) 4320
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Find two mean proportional between 2 and 54.

2 3R 54 o Si<l &1 HEATATAT [T shifSy)
N=-
a) 6 and 18
b) 6 and 12
£ - \w ¢) 12 and 18
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The value of (AT 1A shileIT) )
{c0s°60°+4sec?30°—tan®45°)
{sin“30°+co0s“30°)}

2) 64/\3
b) 55/12

&7 w c) 67/12
\ = d) 67/10
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Area of the floor of a cubical room is 48 m”. The length of the longest rod that can
be kept in that room 1s
Ueh T ShAX oh %I ohl &AheT 48 11 HicK 8| 39 AL T TET ST Tehel dTeit ey el

DS hl TATg JTd hITSIT)

a) 9m
b) 12 m

' \’\} c) 18 m

\‘\ & /;/ N\
(7l
=
\\ \'- ‘-l
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The least number which must be added to 1728 to make 1t a perfect
square 1S
I G BIST GEAT 41 © TSI Teh YU 71 S o6 fIT 1728 H ST ST

El

a) 36
b) 32
\ c) 38
Vs d) 30

/\
Y
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A can do a piece of work in 12 days while B alone can do it in 15 days. With the
help of C they can finish the work 1n 5 days. If they are paid Rs 960 for the whole
work, how much money A gets?

A T T i 12 &1 H o GohdT & STelfch B 39 h1F ol 15 TadT H st "okt 2] C hl
HETIAT § o 31 <hl 5 {a1 H THTH L Hehd g Ald 378 IL hTH oh 7T 960 T hT WA
TeRaIT STTAT =, AT A 3hT Tehal=T €FTIRT THeTdT 82

a) Rs 480

S b) Rs 240
§> c) Rs 320
d) Rs 400

\_— s N\
// ‘
(U
\ \EJ












